
RYOBI 
Electric Blower

Item Nos. RY42102/RY421021/RY421021VN/RY421021VNM
Mfg Nos. 090264001/107264002/095264002/095264101/095264102

Repair Sheet

TECHTRONIC INDUSTRIES POWER EQUIPMENT
P.O. Box 1288, Anderson, SC 29622

Phone 1-800-860-4050
www.ryobitools.com



RYOBI ELECTRIC BLOWER − ITEM NOS. RY42102/RY421021/RY421021VN/RY421021VNM

2

7

1

18

1

4

14

21 13

12

12
19

16

24

20

25

2

3

17

26

6

9

8

23
22

22

10

11

5

24

15

9



RYOBI ELECTRIC BLOWER − ITEM NOS. RY42102/RY421021/RY421021VN/RY421021VNM

3

PARTS LIST

The item number and manufacturing number will be found on a label attached to the upper boom. Always mention the item number and manufacturing 
number in all correspondence regarding your ELECTRIC BLOWER or when ordering replacement parts.

	 1	 661817001	 Screw (M4 x 14 mm, T15 Torx Pan Hd.)................ 9

	 2	 529412002	 Inlet Guard............................................................. 1

	 3	 311796001	 Housing Assembly  
			   (Inc. Key No. 17, RY42102/RY421021).................. 1 
		  205150001	 Housing Assembly  
			   (Inc. Key No. 17, RY421021VN)............................. 1 
		  205207001	 Housing Assembly (Inc. Key No. 17,  
			   RY421021VNM, mfg. no. 095264101)................... 1 
		  380006005	 Housing Assembly (Inc. Key No. 17,  
			   RY421021VNM, mfg. no. 095264102)................... 1

	 4	 760565001	 Switch and Fuse Assembly.................................... 1

	 5	 695040001	 Bushing.................................................................. 1

	 6	 529410003	 Fan w/Insert Nut.................................................... 1

	 7	 940851148	 8 Amp Label (Right)............................................... 1

	 8	 312259001	 Motor Housing Assembly...................................... 1

	 9	 662167001	 Screw w/Washers  
			   (M5 x 25 mm, T25 Torx Cap Hd.)........................... 4

	 10	 311793001	 Outlet Housing Assembly (Inc. Key No. 22)........... 1

	 11	 529406001	 Blower Tube........................................................... 1

	 12	 311794001	 Handle Assembly (Inc. Key Nos. 7 and 19-21)...... 1

	 13	 529413001	 Switch Trigger........................................................ 1

	 14	 523001003	 Strain Relief Plate....................................................... 1

	 15	 790009004	 Wire Connector........................................................... 3

	 16	 311797001	 Power Cord Assembly................................................ 1

	 17	 941588099	 Data Label (RY42102)................................................. 1 
		  941588170	 Data Label (RY421021)............................................... 1 
		  941588330	 Data Label (RY421021VN).......................................... 1 
		  941588370	 Data Label (RY421021VNM, mfg. no. 095264101)..... 1

		  941588480	 Data Label (RY421021VNM, mfg. no. 095264102)..... 1

	 18	 940851081	 Warning Label (Fr/Sp)................................................. 1

	 19	 940851147	 Icon Warning Label..................................................... 1

	 20	 940851083	 8 Amp Label (Left)...................................................... 1

	 21	 940851082	 Warning Label............................................................. 1

	 22	 940705300	 Logo Label.................................................................. 2

	 23	 529408002	 Tail Cone..................................................................... 1

	 24	 T662028001	 Screw (M4 x 16 mm, T15 Torx Pan Hd.)..................... 2

	 25	 660024021	 Screw (M4 x 20 mm, T20 Torx Pan Hd.)..................... 4

	 26	 742196002	 Motor Assembly......................................................... 1

		  NOT SHOWN:

		  991000493	 Operator’s Manual

		  8-16-19 
		  (Rev:11)

	 KEY	 PART
	 NO. 	 NUMBER 	 DESCRIPTION	 QTY

KEY	 PART
NO. 	 NUMBER 	 DESCRIPTION	 QTY



RYOBI ELECTRIC BLOWER − ITEM NOS. RY42102/RY421021/RY421021VN/RY421021VNM

4

MOTOR

SWITCH
ASSEMBLY

POWER CORD

RED

DIODE

WHITE

WIRE CONNECTOR

BLACK

BLACK

BLACK

BLACK

WIRE CONNECTOR

WIRE 
CONNECTORBLACK

WHITE

WIRING DIAGRAM


